MTH 132, Section 13 Quiz 8 Mar 24th, 2017

Name: ID:
Clear your desk of everything except pens, pencils and erasers. Show all work clearly and in order. No notes,
phones and calculators. You have 10 minutes to finish the test for 10 points. ONLY THE PROBLEMS
ON THIS PAGE COUNT. The problems on the back are not required, but will be graded if
you finish them.

Algebraic Formulas:

a>— b =(a+b)(a—0); a—b = (a® + ab + b*)
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(b) (2 points) Which of the following is the equatlon of a horizontal asymptote for the
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(c) (2 points) Which of the following is the equation of a vertical asymptote for the curve

2. (4 points) Write down the slant asymptote of the curve
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MTH 132, Section 13 Quiz 8 Mar 24th, 2017

(% 0 points) Continue with the function f(z) = ;—_21 in problem 2. Suppose we know the

following information for f(x). Which picture below best fits the graph of y = f(z).
e f(x) has vertical asymptote z = 1. The domain of f is (—o0,1) U (1,00)
e [ is increasing on (—00,0) U (2,00) and decreasing on (0,1) U (1,2).

e f is concave up on (1,00) and concave down on (—oo, 1)
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